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Example Quote from Ursula K. Le Guin
(from her 2014 collection, Wave of the Mind

I don’t have a gun and I don’t have even one wife and my sentences tend
to go on and on and on, with all this syntax in them. Ernest Hemingway would
have died rather than have syntax. Or semicolons. I use a whole lot of half-

assed semicolons; there was one of them just now; that was a semicolon after
"semicolons," and another one after "now."




Sequences of Punctuation

Let ©® = {0y4,...,010} denote the (unordered) set of ten punctuation marks (see sec-
tion 2.1). Let n denote the total number of documents in our corpus; and let [, =

g 0 }, with k € {1,..., n}, denote the ordered set of ny punctuation marks in
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From Dy, we can calculate £1*, £%* and f**.




t4 9 £6: considering the numbers of
words between punctvation marks

tween punctuation marks, Let f_}if' = u'ﬁ. u":". s u':'l'l 1 }‘tll']]u[t' the number of words

that occur between successive punctuation marks i Dy, with H‘fi- equal to the number

of words before the first punctuation mark. Therefore, H";" 18 the number of words be-

tween punctuation marks Hf and u‘i_‘;. and so on. The set D} for Le Guin's comment is

25,6,9,2,9.7,5,1,0,4,1,0}{ where we count “don’t” as two words and we also count

“half-assed” as two words. The minimum number of words that can occur between suc-

I don’t have a gun and I don’t have even one wife and my sentences tend
to go on and on and on, with all this syntax in them. Ermest Hemingway would
have died rather than have syntax. Or semicolons. I use a whole lot of half-
assed semicolons; there was one of them just now; that was a semicolon after
“semicolons," and another one after "now."




f?: quantifies frequencies of the
numbers of words between successive
punctuvation marks

The entries of the feature fJ"" e [0,1]™*1 which quantifies the frequency of the

number of words between successive punctuation marks, are

5.k {wf € DY |wf = i}

Iy (2.5)

g
In the Le Guin quote, recall that D = {25,6,9,2,9,7,5,1,0,4,1,0} (which includes
O unique integers), so the ng X 1 vector (with ny = 40, as mentioned above) f” has 9
nonzero entries. For example, fi = 1/12 (because 0 occurs twice out of np = 12 total

punctuation marks) and f; = 0 (because 3 never occurs out of ngy = 12 possible times).
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wilhioul distinguwishing between dillerent panctuation miarks,




Comparing Feature Vectors:
Kullback-Leibler (KL) Rivergence

» Need a measure of similarity

« KL divergence (aka: relative entropy)

KL(p|q) =>_._pilog(pi/q)
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